HALF YEARLY EXAMINATION 9/2017
Crans - v
EUBJECT ! COMPUTER SCIENEE

Time : 3 hrs MM : 80
Q1. Choose the correct option and write it in the answer sheet:

(a)

(b)

(c)

(e)

(n)

(10x1=10)
A set of instructions, which tells the computer what
to do. '

(i) program ) file
(iii) syntax (iv) machine language

Symbol with which a formula must always begin
with

(i) equal to (=) \ i) +

(iii) - (iv) =

Which mode is displayed on the status bar when
we make changes in a cell?

()  Ready (i) Edit

(i11) - Enter (iv) Save

Language which uses mnemonic codes or symbols.
(Q) High Level Language

(i)  Assembly Language

(i) Low Level Language

(ivy Machine Language

Addition of two or more text values is called

()  Arpuments (i)  Absolute reference
(iii) Relative Reference (iv) Conecatenation

Key combination that can be used to apply outline
border around the selected arca.

1) Ctil+ G i) Ctl+cC
(iii) Ctrl + Shift + 7 (iv) Ctrl + Shift + F9

(1)



(@

)

(i)

Q2. Answer the following in one word or one sentence :

(a)

- (b)
(c)

A program written in assembly language is called

(i)  Assembler (i) Source prog;‘é’m
(i) Object program (i) = Compiler

Which key combination is used to get the sum of
values of adjacent cells?

M Alt+= | (i) Ctrl+C

(iii) Ctrl+5 (iv) Shift +=

The default value for row height in a worksheet.
m 15 (i) 4

(i) 843 (ivy 3.5

The term software was first used by

(i) ~ John McCarthy (i) John W. Tukey
(iii) John Von Neumann (iv) Jack Dorsey

(10x1=10}

It is the program converted into machine language
by the translator.

Key used to sclect a range of adjacent cells.

They are input to functiuns; which accept values
as number or text.

It converts high level languagg prograin into machine
language, line by line.

Function key used to repeat mest of the commands
or actlons.

Which function finds the largest number in a range?

" It was the first interactive computer game.

Function used to count the number of numeric values
in a range.

- (2)



Q3.

Q4.

Q5.

6.

)

M

It1x the lynguaee which consiais o BIRARY Riimbera,
f.e. O and 1.

Function that returns the remainder after a number
is divided by the divisor.

Answer the following ;

(a)

(c)

What is Autofill feature? How can it be applied? (4)

(b)  List any three characteristics of the fourth generation
language. (3)
(c) How will you find GCD of 3 numbers? (3)
(d) What are the features of High Leve] Language? (3)
(¢) How will you make modifications in cell contents
using edit mode? ‘ (3)
() Give two methods for inserting a column in a
worksheet. (2)
Differentiate between : (4x4=16)
(a) Interpreter and Compiler
(b) Undo and Redo
(c)  Assembly Language and Machine Language
(d) Copying and Mdving data
Explain the following : '
(a) Formula ., (2)
(b)  Uulity of functional library (2)
(¢) Flash Fill Feature | (2)
(d) Machine Language (3)
(e)  Cell Reference, Also mention its types. . (3)
()  Functions with 2 examples (3)
Explain the following formula ervors ; (Mx1=1)
(a) Name Error (b) # value Error
# DIV/0! Error (d) ### Error

(3)



@7, Arrange the followlng questiona boacdl &1 the VS BHEE

Sheet pgiven below S (241+1va=h)
| A B + D E

1 CAR-SALES

2 Name Jan-Sales | Feb-Sales| Total

3 | Santro 200000 | 300000

4 | XUV-500 400000 | 4500000

5 | Highest Jan

7 | Lowest Feb

(@)

Q8. (a)

Calculate ‘Total’ sales for Santro in D3 and XUV-
500 in D4.

Name the cell which contains ‘Feb-Sales’ for XUV-
500.

Calculate the Highest Jan-Sales in cell B5.
Calculate the lowest Feb-Sales in cell B7.
Rashmi’s uncle was a computer programmer during
the third generation of computer language. Which
kind of language did he use then? (1)
Mr. Shyam has got a raise of 20% in his salary.
Find the total salary, if his present salary is ¥ 50,000,
Caleulate the total salary using the formula. (1)



.
.
= == Tl
i i
i

HALF YEARLY EXAMINATION 079017
- CLASS : VI
SUBJECT : SOCIAL SCIENCE
Time : 3 hrs LR MM : 80
General Instructions : _
(i) Read all the questions carefully and number the
- answers according to the questions. -
(i) Write all the answers in neat and legible
- handwriting. ’
(iii) Attempt all the questions.
‘(iv) Write complete sentences for question numbers
2 and 3.

(v) Attdch the maps properly to the ma’i'n sheet.
(vi) Questions carrying 3 marks should be answered
" within 60-80 words. B S

(vii) Questions carrying 5 niarks should be answered
' within 80-100 words.

Q1. Fill in the blanks : | (6x1=6)

(i) Smaller rivers that flow into larger rivers are
called . O

(i) . | was the famous Neolithic site found
in Turkey. :

(iif) India's national anthem ‘Jana Gana Mana' was
comppsed by
- (iv), _._is considered as Tather of the Indian

constitutionn.

(1)



Q2.

Q3.

(v) A group of stars forming various patterns is
called a A ‘ et

(vi) ‘ _is a network of parallels of latitude
: and meridians of longitude. ;
Correct the following incorrect statements : (6x1=6)
(i) Cartographer is the scholar wio study the past.
(i) Microliths were found during the Neolithic
- period. :
(iiy The phrase Unity in Diversity’ was coined by
Sarojini Naidu.

(iv) Stereotype means (o judge someone negatively

or to see them as inferior.

{v) The circle that divides the day from mght on

~ theglobe is called orbital plane.
i) A drawing mainly based on memory and spot
* observation is called a plan.

Answer the following questions in one sentence each:
(8x1=8)

) Why should we study hustory?.
(i) List any two ways in which hunter gatherers
~used fire.

(if) - Where is Mehrgarh located?

" {iv) .Whu‘ar.e Dalits?

(v} What is Universal Adult Franchise?
(vii Name any two planets which have rings around
them. a

@)



Q4.
Q5.
6.

Q7.
Q8.

Qo.

Q10.

Qll.
gl2.

Q13.

Q14.

Q15.

(vii) Define Rntatidn.
(viii) Identify the given conventional symbols :
‘PO’ and 'PS'.
Discuss any three reasons for the decline.of the
Harappan civilization. o (3)
Differentiate between inscriptions and manuscripté.
| (3)
What are sites? Briefly discuss about habitation sites
and habitation cum factory sites. (1+2=3)
How did hunter gatherers become farmers? (3)
Briefly explain the factors which lead to diversity.
| o B )
“This cold desert lies in the eastern part of Jammu
and Kashmir'. Identify it and discuss any two features.
(1+2=3)
What is democracy? What are the two characteristic -
teatures of a democratic government? (1+2=3)
Write a short note on Winter Solstice. (3)
‘Maps play an important role in studying a place’.
Name and explain different types of maps. (3]
Who were hunter gatherers? Why did hunter gatherers
move from one place to another? (1+4=D)
‘Government ensures the smooth functioning of a
country’. List any five functions of a government.
‘ (3)
What is Constitution? What are the main provisions
mentioned in the Constitution to ensure equality of
citizens? (1+4=5)

@



S 16 (@ Earthis ralled @ untque planst’. Explain.
() Distiaguish between Plancts and Stars.

‘ (3+2=D)
Q17. Explain different heat zones of the earth with the

help of a diagram. ; o {B+2=D)
Q18. Attempt the following maps : ' foe

(a) On the provided political map of India, name
and mark the following : ’ (4x1=4)

) A Neolithic site famous for pit houses
(i) First city discovered

" (i) An early city where Great Bath.was found
(iv) A 31te where early agnculture developed

(b) On tne pro\rlded political map of the world, name
and mark the following : (4x1=4)

(1) A country having 11 time zones

(ii) The smallest continent ;

(i) * An ocean ﬁa‘med after a country

(v) The Longitude which divides the Earth into
two equal halves.

@



HALF YEARLY EXAMINATION ©10/2017

— CLASS : VI
SUBJECT : MATHS
Time : 3 hrs : MM: 80

General Instructions !

(i)
(ii)
(iii)
(iv)
(v
(vi)

Ql.

Q2.
Q3.

Q4.

as.
Q6.

Q7.
Q8.

Qo.

All questions are compulsory.

Read all questions very carefully.
Questions 1 to 10 carry 1 mark each.
Questions 11 to 18 carry 2 marks each.
Questions 19 to 28 carry 3 marks each.
Questions 29 to 34 carry 4 marks each.

1 ‘
Express 75 as an improper fraction.

. Write 76 in RomanvNumerals.

Name any two angles in the given figure. .

.D ‘
B
C

Write the number of lines of symmetry of -

‘ (a) Isosceles triangle . (b) - Rectangle

FExpress 26 as the sum of two odd primes.

‘A square can be thought of a special rectangle’. Give
reason. » B :
Write suceessor of 273899,

Fill in the blank :

. lerere = __lakh

80
Reduce EZ to simplest form.

ity



1 oglo.
Q11.

Q12

Q18.
Q14.
Q15.
Q16.

Q17.

Which is the smallest composite number?

State which number Is on the left of the other number on
the number line and give reason : 7292311, 987350
Draw diagram to illustrate :

(a) Anopen curve

(b) Aclosed curve

Find the HCF of 84 and 90

Draw a number line and locate %, g on it.

Estimate the product using gencrallrule 3

187 x 732 | ‘

Using divisibility test, determine whether 5683712 is
divisible by 9 or not.

Consider the letters of English alphabets. List among them

. the letters which have both horizontal and vertical lines

Q18.

Q19.

of symmetry. o
Name the following polygons :

(a) Sl (b) d>

Where will the hour hand of a clock stop if it starts :
(a) from 6 and turns through 2 right angles?

" (b) from 11 and turns through 2 straight angles?

Q20.
Q21.

1 . .
(¢) at3and makes 2 of a revolution, clockwise?

Check whether 49 and 15 are co-primes or not?
From the given figure, identify :
(a) achord

(b) asegment

(c) asector

(2)




. Q22. Find the product by suitable rearrangement ;
- " :
4 % 528 x 125
Q23. The school canteen charges ¥ 25 for lunch and 3 10 for

Juice for each day. How much mone
; 1 oney is spent b ;
in 7 days on these things? ? astudent

Q24. Find the first three common multiples of 3, 6 and 12,

925. (a). - Use the given digits 3, 0, 7 and 1 withoyt repetition
and make the smallest 4-digit number.

(b)  Insert commas suitably and write the name according
to Indian System of Numeration 1 4297033

926 Qompa;e the fractions and put >, < or = sign in the hox

e
s [ 4
Q27 | Name the types of following triangles :
o . Triangle with length of each side Scm,
Mf PR such that m./P = 35%, m.q - 60°, m~R = 85°
o ﬁ‘m&such that T - 73

Q28. Find thé"*eqyivalent fraction v. .15% .

“=fausT e

(a) denomin&tﬂ;‘ 7 (b) numerator 45
Q29. Draw the following'3. D shapes :
(a) Acone ” “.. (b) Acylinder

Also, write the number of facés and edges for both figures. |
Q30. (a) There are 28 students ih section A, 36 students in :
section B and 32 students in section C of class VI
- ina school. What is the minimum number of hooks
required for their class library, so that they can be
distributed equally among the students?
()  Mention one benefit of reading books.
(331. (a)  Using distributlve property, find the value of : I
972 x B+ 972 x 12

(3)



(b) Inthe given fipure, which two triangles have /Y as

common?

Y.

R

0 Z

&

1 _
@32. Ona particular day. & worker earned ¥ 11 " Out of this

1 5,
money, he spent ¥ 2 on food and ¥ SE on other needs.

How much money is left with him now?

Q33. Draw a diagram of two angles such that they have

(a) onerayin cOmmon

(b) two pointsin common

Q34. Marble is packed in boxes, each weighing 7 kg 500 g
How many such boxes can be loaded in a truck which

cannot carry beyond 900

kg?



Time : 3 hrs

HALF YEARLY EXAMINATION 1072017
CLASS : VI
= i SUBJECT : ENGLISH
; | MM : 80

General Insiructions :

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.
SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7)

Most people have eaten doughnuts. Have you ever wondered where the first doughnuts
were made? No one knows for sure who made the first doughnuts. Some people
think that doughnuts probably began in the 1800s;as Dutch “olykocks” or “oily
cakes”. In those days, a cook would not want to waste any scraps of food. Leftover
pieces of bread dough were put into hot oil and fried. Olykoeks were tasty on the
outside, but soggy and uncooked in the center. Some people say that Elizabeth .
Gregory, mother of a New England sea captain invented the first real doughnut. She
replaced the soggy center with spices and nuts. But, Elizabeth's son, Captain Gregory,
did not like nuts. He punched out the center, and the outcome was the first hole in
a doughnut.

Others say the real story is that Captain Gregory asked the ship's cook to make the
doughnuts with holes so that he could hang them on the pegs of the steering wheel!
Others think that Captain Gregory saw holed pastries in Furope and brought the
idea back to America with him. During World War I, homesick American soldiers in
Europe were served doughnuts by the Salvation Army. These brave women
volunteering for the job were called ‘Doughnut Girls'. They often Worked in dangerous
conditions near the soldiers, so the Doughnut Girls wore helmets and uniforms. The
women made Doughruit cutters out of a large can with a smaller can inside it to eut
out the hole. They could set up a kettle of hot oil to fry the dough almost anywhere.
Finally, in 1920s, doughnut machines were invented. Today. doughnuts are available
in mackets, bakeries and coffee shops. You might like sugar-glazed doughnuts,
doughnuts dipped 1n chocolates or doughnuts covered in sprinklers.

(a) Who was Elizabeth Gregory? . . - ! (1)
(b)  Why did Captain Gregory ask the ship’s cook to make the doughnuts with a

hole? Sy , i ot . (1)

(A-1)



(€} Who were Doughnut Girls'» Why did they wear helmet and unfform® @)
(d) When was the doughnut machine invented? (1)
() Name ény two types of doughnuts avaﬂable in markets today? = (1) :
() Find the words from the passage which mean the same as given below :
(2xiA=1)
() very wet and soft (i)  apinor bolt used for hanging thihgs. f
Q2. Read the poem given below and answer the questions that follow : (B

Last night, I had a scary dream

Waking me up with a scream

I was in the next millennium ;

In a state of delirium

Population had increased

Breathing space decrcased

Mouths to feed were plenty

But food to eat was scanty

Pollution was still a task

Everyone walked with an OXygen mask

Science and technology improved

But to what use?

Only to create bombs, and then have them fused!
Corruption was there, and of course, hazards everywhere
Will that be the next millennium?

Oh my God! I wish

[ had never that dream!

(@  Why did the poct wake up with a scream? ‘ (1)

(b)  Write any two problems that were witnessed by the poet in the next millenniym?
‘ : (2)

(¢)  Give a pair of rhyming words used in the pocm. (1)
(d Complete the sentence - (1)
The poet wishes that |

()  Find the words from the pocm which mean the same as the following ; (2x'4=1)
() small or insufficient in quantity (i) a danger or risk
SECTION-B (WRITING)

(3. A packet with a new blazer and a hew swealcr is found in the school canteen. Draft
a notice asking the owner to collect it from you. 4)

(A-2)




Write an interesting dialogue between your friend and you about what you two did

Q4.
over the weekend. 4)
Q'i kW’i’ou are Raghavi, a resident of B-322, Paschim Vihar, Delhi. Write a letter to your
friend, Sahil sharing information with him about a workshop attended recently by
you on the topic ‘Health is Wealth'. _ (6)
SECTION-C (GRAMMAR])
(6. Rearrange the following words to make meaningful sentences : (2x1=2)
(a) ' went/punished/the/out/teacher/the/students/and/of/class/the
(b) empty/pipeline/tanks/because/were/the/had/ thé /broken
Q7. Fill in the blanks with suitable question words : (AxY2=2)
(a) _did you manage to reach on time?
) __ kindof stoﬁes do you like to read?
(c) applied the brakes on time?
(d) is your favourite cartoon character?
@8. Fill in the blanks with the plurals of the nouns given in the brackets : (4xVa=2)
" (a) As soon as it started raining, the took the to a shelter.
(woman, baby)
(b) Not only the children, the teenagers also enjoy _about
and elves. (story, dwarf)
Q9. Complete the sentences using the suitable collective nouns (A la=2)
(a) The  of sailors started singing and émuting when they reached
nearan ________of islands.
(b) A wonderful picture depicting a of eléphants was displayed in the
exhibition. It was appreciated by the __ of judges.
(10. Fill in the blanks with suitable pronouns : | (4x'a=2)
An mtcresting workshop was conducted by I)r Mehta L delivered an
‘ impressxvc: lecture for the students and all listened to o carcfully.

Qll.

Thé‘_y ﬁﬁkéd many qﬂéitléﬂi and Dr, Mchta r(‘adlly answcercd au of

Complete the following sentences using the correct degree of adjectives (4x12=2)
(a) These boy% are’ _than the ones I met before (newouﬁ]
(b) My sister insisted on buying a __ chair. _(pquorgable)

(A-3)
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HALF YEARLY EXAMINATION 10/2017
CLASS : VI )
SUBJECT : INTEGRATED SCIENCE

Time : 3 hours ‘ . MM: 80
General Instructions :
(i)  All questions are compulsory.

(ii) Mention correct question n

umber and part Jfor each

ansuwer,

(iii) Attempt the questions in the same sequence as given

in question paper,

PART-A

Q1. Answer the following in ane word or one sentence each :

(a).

(o)

()

(d)

(15x1=15)
The stems of harvested jute plants are immersed
In water for a few days. Give reason.
A‘whi,t’e structure grows out of the seeds when they

germinate. What is the white siructure called?

hat type of motion is exhibited by the following?
(i) an apple falling from a tree, . ‘
(ii)  strings of a guitar,

: Rahul kept a potted plant in dark room for a few

days. Then he tested a leaf of the same. plant for
the presence of starch. Which solution should he
use to tes{ starch present in that leaf?

Name the structure in I‘delorms which help them
to grind their food.

Arrange the following in increasing order :

metrd, kilometre, millimetre, centimetre

Wrile any two uses of cotton fibre.

Which ﬁart of the plant‘manufac'tures food?

Find the odd one out giving reason :

dry leaf, metal key, wood, paperboal

(1)



(j) Name the part of the cotton plant from which fibres are
extracted. ' ‘
(k) When an electric bulb is said to be fused?
(1) Give two examples of plants that have green and tender
-stemm. B
(m) List the ingredients used in making a chapati /roti.

eficiency diseascs:

(n) Define d
analogy =

(o) Complete the given

n:: Meat:

Epg: He

2. Fillin the blanks :
bOhydrat@s'fou

(a) The main car
the form of and sugars.
(). Jute _plant.;is normally harvested at the. I

( (c) Motion of achild on 3 swing is N

(@) Lionis2d — o
(e) s the anéient uni
{ength from the elbow to the finger tips. :
m for the following: - (5x1=5)
of an object from 3

(5x1=D)

Q

nd in our food are in

as it eats flesh ©
t used for measuring

3. Givea technical teT
&) The motion in which distance
fixed point remains the game.

(b) Animels which eat only plants of Pl

y which jeaves of plants 16
girv

Q

ant products:
o Process b lease 2 lot ¢
water vapoul {nto the ‘

(d) Comparison of
Jnown fixed guan

) Lo¥ lying open area W
a city or town {s dumped-

ity of th

here garbage collected fro

(2)

motion.
f other animals. E




Q4. Answer briefly - (10x2=20)

(a) Write any two ways L0 preserve the nutritional -
value of food.
(b) Write any two precautmns that should be taken

© while measurmg length of any object.
(c) What type of soil and climate are good for growing
cotton? Name any two states of our country where

cotton is mainly grown.

(d)  Food material X' is syrup like thick and sweet liquid
which s made by a kind of insects by collecting .
nectar from flowers. On the other hand, food material
Y’ is a thin liquid which can be converted into curd.
(i)  Identify food materials X’ and 'Y".

" (ii) Name any one animal which provides us with
food material Y. ‘
(iii) Name the insect which gives food material X".

() () Whatare fibres? |
(i1) Identxfy the synthetic fibres from the ones given

below : ‘
polyester jute, silk, nylon ‘

()  Identify the parts X and ‘Y’ of a leaf and define

 them. '

(8 () Whatdoes SIunit stand for? Name the SI unit
’ of length.
(i) Whyhandspan can't be used as standard unit
of measurement?

(3)



S

i Y fprantiate between open circuit and closed
circuit.
(i) Name two devices in which we use electric
cells.

(i Which of the following waste materials present in
household garbage can rot when buried in the ground
and which cannot? -
polythene bag, vegetable peels, aluminium fml

tea'leaves

()  Polythene bags are nonbmdegradable They collect

" in our surroundings and pollute the environment.

Muskan uses old cotton fabric and even old denim

cloth to make bags to carry vegetables, fruits, milk

sachets and other household items and thus reduce '

the use of polythene bags.
(i) ~ What values do you learn from Muskan“)
(i) Suggest a way other than the one mentioned
above to minimise the overuse of plastics.

Q5. Answer the following : (5x3=15)

(a) (1) Idenufy the types of leaf venatinn in Aand B.

o £al

(i) What type of root will be present In the plants
having leaf venafion A and B respectively?

(il Give one function of aleal

(4)
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Q6.

Q7.

(b) Dietary fibres are also known as roughage.

(1
(i)

g

(d

Write two important sources of roughage in
our diet.

State two functions performed by it in our
body. '
Explain two main processes of conversion of
yarn into fabric.

Name two devices,used for spinning of yarn.
The distance between Sarita's home and her
school is 4000m. Express this distance in km.
What types of motion are exhlblted bya sewmg
machine?

(e) With reference to method vermicomposting, give
suitable reasons for the following :

1)

(1)

(i)

Powdered egg shells (or sea shells) should be
added to the food of redworms in the compost
pit. .

We should not add kitchen wastes containing
salt, pickles, oil, vinegar, milk and meat

‘preparations as food for redworms in the
- compost pit.

Plastic coated paper should not be added in-
the vermicompost pit.

Draw neat and well-labelled diagrams of :  (4+3+3=10)

(i)  Parts of a plant
(i)  Structure of a flower

(iii)  An inside view of a torch

Answer the following questions :

(6x2=10)

(a) The alphabets A, B, C, D, E and K are used to
represent a particular group of food mitricnts, These
nutrients are needed by our body in very small
quantities but their presence is essential in our food.

(9)



(b)

(iii)

Whicii nutricnts do the above given aiphabets

represent?

" Choose the alphabet which represents the

nutrient that is -

1. necass;ary for good eyesighf.

2. necessary for the normal growth of bones
and teeth. .

3. present in amla

4. necessary for proper functioning of the
nerves and muscles.

Define balanced diet.

In the given figure which of the following would

allow the bulb to light up if connected betwee

XandY: ’

an iron wire, a glass rod or a wooden spoon.

Give reason.

Y
Give one use of electricity in our day to day
life.

Define switch.

Differentiate between conductors and

insulators.




Sretaiter i | 10/2017

e AT ¢ VI

fore: - Hepay

o - e qUitET: - 80
e @ IRy e aEr: auer: diw i '

ql.

(i) wFEvE - SAPT g REATAT] SRyRAEEr dadar |
(i) A% @OE Syfgper Tl gl @ #H aE |
fiv) ey gl 7 A |
fv) TOTREAT HHATIATGAR HTSTRT AT |
(vi) wdST eI Tl GFAT A |

TqUE: ‘F (IRa-sEuay) HET: 10
o weprT: T TAT: BaT A Setd | e awor o g s | i
gefaer e anviad | giia YagAE T WERTdT §: Fehl] ST | e S
A HE JEH aed | g A Hepelle] (EET eBTa o TV = STIE | AR
JreTvTE ST RIS T ] STk | el Ao T & i e
T g8 AT YN | O S T e | e T wEan AT T

- AR WS T A 3T Uﬂmmgﬁﬁl@{aﬁal
1 UhUE g - (4xVe=2)

() o Ao S
() AR Ygy & 68 ST
(i) T BT 0 S |
 v) R T WERIE: S ? ’
L. TfﬂTcFa?f IO - ‘ (2x2=4)
S e i e WE BT T
W e e e

I e S - R (4x=2)

() TR WA AT vl faseeie 1?5!1?
(i) H.mm;mmmmﬁqﬂﬁm?
(i) e s ERCICE LR R Ot
(iv) SRR T R AR S WA
V. ST TS g anfad dee Rew ‘ ‘ 2)

(A-1)




VT @ (T w) 3 15
w2, e qv e e af il of ssgemt s @ pien g e
(10x%4=5)

T
qfergard, <y, g, e, e,
sreggwslian, d0n, T, HIE, afamas

m____

o e
(2).

7 (3) asmﬁwm;agmmr T w0 T
() ORI S ﬁaﬂaaaﬁalmﬂimm (6
A e g weieaT WS BET o (7). aRa R e

gy T: |

‘ & B )
‘ (10)___

S

y3. Tl gwar A5l TEaeEEl derean qﬁ(ﬂ@?ﬂﬂmﬂw - (5x2=10)
HaoHT ST

iy, 998, I, ARG, yelar:, g{fij TR : “ ‘
7 Erli%‘; gy, faemat, gk, Soad:, =0 |

A

(A-2)




T ( Biaﬂaﬁﬂfvqu)
@ (%) =i R g -

0y L+ 37 + fal
(ﬁ) m‘qﬂf* ‘+3}T+§‘+a{+q
@ i wET R -

W L+T+F+ 9+ + g+ 97+ gl = )
B T+ + A+ M+ 47
s ﬁqaaza
. M WWFEE Ry vy
R o & fero ot
itﬁﬂ?ﬁl@ﬁnm%@mq& I T |

I (te)
a"“"ﬁ‘liﬁ? | (am)
] | (72)
V(T - 2 )
ﬁ?ﬁaﬁFﬂﬁ?gﬁiiiargq-ﬁmga

(A-3)

@i'§;'|':2
(2x1=t

(2}{ 1=2

(3x1=3

(4x1=4)

(4x1=4)

(4x1=4)

(3x1=3)



T10. STenfefdareal dehvmaran sqareT gE - (1x3=3)

T11.

912,

(W) g P @ ¥ 5
G) H e S
(i) T qE A v &)

o q (AfE-sEdieay) HgT: 30 f‘

srenffae eyl WfdeT yeduSHHT JEanT free - (5)
UY: WA 3 o YHSAR AW | dEa ann wiEk | FEa T Al T
FATT | A HAT FrgehT HISi | Fiwn: qTadn: 7 Sl gETe it | aey we

gl SIS TaEdt o uwr el waelfd ug ) @gder A sdd ydedwEEie | g .

. UkYeH I - 7 (2xVe=1)
@) S H: Sager gEae
()  HET F: BEFA? . ,

I, Ui SO - (2x1=2)
()  FegshiE: Ay ey |
i) T T e fh areafar

. RS S - (4x14=2)
() ‘e SgRrE A s i B sdue B ot
() uar sier swar vedl: RLwore ey st
(i) et s o feiger e vy e
(v) HHUT ST St T qgiguer ot gy 2

srenferiiesd weiel gfe@r wedausAmEr] i foed - - (5

firafeer werst stef e, TTEEET: T T g8

wygf=r wid: urarel 9, F9: ey defwr gem

I P S - (2x1=2)
() e a9 fie efae
(i)  gem: urare & wfe

I qofames S - (1x2=2)
g HeioH, b b fafs

. aenfadeny g - (ZxlA=1)

W) ‘ad gar e v fageven fe arfe
() TR sre R valae st ggwRn 7

(A-4)

i




713, arehferfiad areaisl dfdar seougrg Saar e - @

L\E/

J14.

q15.

g16.

g1

II.

I

CYETT: - g a&qum:ﬁﬁmﬂmﬁﬁmﬁmmﬁﬁawaﬁ%mm

w1 |
Wﬁmﬁwflwfﬁwi,ﬁwmﬂﬁ%ﬁﬁﬁﬁfﬁﬁﬂ
- oRET ArEeRy e fd At | e wft aeemmet
- aa-aﬁaﬁqmﬁﬁﬁmzla‘iﬁmzlsﬁaﬁ#ﬁﬂfgﬁwﬂﬁﬁﬁn
UehygA e - | (2xVe=1)
(i ma@sﬁmﬁrmﬁf S
(1) o &S A gl ?

ol e - . (2x1=2)
() & e ST ey T S

(i) X ToAE fasreEmEr wa e

TR, T - . (4xV5=2)
() o vrard fremy o fen Geveer wduey B At

@) ‘arepty fiEnfir s v R i sfke

(i) ‘greamy sy weEg TR FeETE o Wk

(iv) ‘HEIFTERTOET STE USE TR TR 3T Y7

areffefiae-gellred st ST T SeRgRdeRrr g foed - (4x1=4)

e ufed: e e e e

foh e o U SiiE O T A o

seg - gER e M) e amm @ (T TeT
oW P |

Frehferaaenery Yaifchauare s weAfamio g - - (4x1=4)

() A S arey S )

(i)  wh WEST 3T,
(i) g Al o AR
(v) R o Afeed |
a—f,
SyeHRAT AT SR O Rt -  (BxV=4)
()  gmeT: wTedl aehry el S |
(i) o oISl Al A= |

(A-5)



() ooTgeiberEd TR g ST | |
(v)  sperEEEn s A ‘\d
() g e T s SR |

(vi) W:WW?HW\

(vi) e QAT e ST |

(vill) Ty Y dehed FTEARE] S|

q17. it e g A e YA ot frm - (6xv6=3)
qIaT: ’ et
AT RIEEIGH
et R
e} T
i s
(A-6)



()

HALF YEARLY EXAMINATION 10/2017
CLASS : VI
e SUBJECT : FRENCH

Time : 3 hrs . MM: 80

" General Instructions :
Read all the questions carefully.
(ii] Number the answers ds given in the question paper.
(iii) Write in a neat and clear handwriting.
 (iv)  Write the answers in complete sentences.
© SECTION-A [COMPREHENSION ECRITE]
Al. Lisez et répondei 3

Mon cher ami

_ Dans ma classe, il y a un ami. Il s’appelle Jean. Il est
francais. Il parle anglals aussi. Il est beau et intelligent.

I1a 10 ans. Il a des yeux bruns et des cheveux longs et

* noirs. 1l aime la Couleur bleue. 11 Joue au t(—:nms dans

I'école. Il aime la musique classique. Il n'aime pas le cricket.

1l mange des fruits. Il a une petite famille. Il adore sa

famille. Jean est' mon meilleur ami.

ALl Dites vrai ou faux. . (4x1=4)

‘ ‘(a'] Jean parie anglais.
(b) Il mange des chocolats.
(¢) 1l aime le cricket.
(d) Ilaune grande famille.
Al.2 Choisissez la honne réponse. (2x1=2)
(@) Jeanest:
() laid (if) beau
| (iii) grand
(b)  Jean adore:
) sesamis (i) samere

- (iii)  sa famille

(1)




".()

(b) ;

A2 Llsez

- Caroline

Pauline
Caroline
Pauline

Caroline

Pauline

" Caroline " .: _Et du coca?
|  Pauline Non, je maime pas le coca. Je prefere 1e i
‘ J ' “jus de fruits. . o %
Caroline D'accord. Je cnmma_nde du jus de frmts e
Pauline - Bom, ¢ ‘est tout! ‘
A2 Ditesvraioufaue (4:1=43;-
(@) Caroline et Pauhne sont des amies.
(‘ \-“[bj : Pauhne aime le coca.
(c) . Carolme commande du coca.
(d) Pauline mange du burger. ‘
A2.2 Choisissez la honne réponse. B (2x1=2)
{a) Elles sont : ‘ :
W o a la cafetena () ala maison
(i) aurestaurant ‘
(b) Caroline mange : '
(i)  duburger (i)  duchocolat
(iii) ~ de la salade ‘
A2.3 Ecrivez deux verbes du texte. (@xlb=1)

A 3~Tf‘om'ré‘z’dahs? letete: oot gy eg)

deux adjectifs L

deux verbes

Les arnies dans un restaurant v
‘Salut Pauline! :
Salut Carohne' Ca var:

Ca Va et toi'?

i Bien Qu est ce due tu manges‘? it
i Je mange de la salade et des fntes Bt toi? . .|

Je choisis du burger et du popcorn.

@




e

ma.
‘B4

SECTION B [EXPRESSION ECRITE]

'Blk; DecrivezlaFrance Sy AT k (5).. 7
B2. Nornmez et dessmez cing Choses qu' on trouveala cafétéria. .-
: (5)
Prcparez votre fiche d’ 1dentxte b ) : ) ;" 1('.5)_:’: '
Regardez les images et repondez : ‘ R ,[§+355j '
(i) Quel‘ est-ce monument?
(:ii)"’ - Ou se trouve-t-11?
[§i] v(;‘ombien'dé ggns y a=‘t‘l—‘il‘?: A
(i)  Que font-ils?
B (iii) sont-ils mécaniciens’?
SECTION C [GRAMMAIRE] :
Cl. Choisissez la bonne réponse : oo [10x%.=5)
oo @) Clest belle robe. [un une, des)
' (b) " __ -étudiant parle francais. (la, le, I)
(). " Sonia est _ . (beau, belle. beaux)
(d) La chambre es%t . (petits, pehte, petit)
(€ Na___ crayons. (un des. une)
0 gumme ést blanche (le, les. la)
(8- Lesgarv;:ons sont . (intelligent, intelligents,
. intelligentes)
(h) Pierre est _ . ([dros, grosse, grosses)
'(i] Cest ____ taille crayon. (un, une, des)
() Jaime. chocolat. (le, 1a, les)
Cbnjugﬁez'lcé verbes: : {bx1=5)
(a) _Elle _ Ea (manger) dc la pomme. k
(b) . Nous | Ry (chr‘ﬁsi,r) la robe bleue.
)  Je ', £y, ,(regé‘r‘der) la téle topté la journée.
(&) Nous (a‘dolre.‘_r]‘ la v.ié, paris.ie‘nﬁe,‘

@




C3.

C4.

Cb.

Céb.
C7.

(e) s ' (finir) le devoir.

Complétez en utilisant les pronoms sujets !

(a) aimes les glaces.

(b) habite & Nice.

(¢ . adeuxans.

(d) mangeons de la viande.
(e) réussissent 4 ' examen.
) ____ parlezitalien.

Mettez au négatif :

(a) Le gateau est bon.

(b) Elles voyagent beaucoup: ‘ (
() Nous jouons de la guitare.
(d) Us travé.illent bien.

(e) Pierre rangesa chambre.

()  Manuel choisit un livre.

Complétez le tableau :

Masculin " Féminin
@ indienne
(b]‘ acteur S
@3 o = '~ danseuse.
(d) anglais BRI et
&) —— chinoise
n  petit

Conjuguez le verbe ‘avoir'.
Mettez au pluriel ©

(@) Le hijou=

(b) Lafille =

(c)

(@ Le journal = ‘

L homme =

(4

exl=3 . |
(Je, J°, Tu, IL Elle, Nous, Vous. I1s, Elles) o]

(Bx1A4=3)

. ,}:{'i‘ &

(6x14=3)

(3)
(4xVe=2)




'C8. Retrouvezlesphrases: . (2x1=9)

fE () espagnols/professeurs/ Les/sont

o s M ne/ Elle /parle/francais/pas .
o8 Co. Corrigez la faute : SRS (4x12=2)

“ig (a) Nous sommes 1ntelligent ‘
(b)* Elle habitent a Paris.
£ (c) Elle a des cheveux brun.
, W d 1 est: actrice

s C10. Chassez l'intrus. .3 e (4xl,é=2)
: () atmer. regarder, rougir, chanter " %

(b) . acteur, directeur, chanteur , boulangére |
L haute gentil, jolte, laide

\ - f”(d) ey nous, avons, ils

' SECTION-D [LA CULTURE ET LA CIVILISATION]
o DR ‘Dltes vrai ou faux. e A e
{ : (1 1 faut respccter les agés. -

(b) Le bordeaux est un vin
» (¢)  1lfaut _j()uer tout le temps
s (d) DNlyades livres et des cahiers dans la cafetena
2 (e) La mére de Manuel est medecin

D2. Choisissezlabonne réeponse. - (10x%=0) |
(@) LatantedeManuelest - i,
“(i) % ingénieur (i1) jﬂurﬁalié,te
(1) - actrice ‘
- (b) ‘ . traverse 1a ville de Paris.
(1) La Loire (ii) LaGa;rdnhe‘ ;

(i1i) La Seine

(c) Caroliﬁé‘éommande ,
(i) une glace | (i) des frites .
(iii) un pain au chocelat -

(5).




| ‘ [d]‘ ‘Denisa .
) 16ans (i) 14 ans
(iii) - 12 ans
(¢) - La féte nationaleest ___ . . : ‘
(i) Le 14 juin (i)  Le 14 janvier
(i) Le 14 juillet | ‘
() Le pére de Manuel aime ’
i) . latele C () lamer
‘ (iii)  les montagnes
(g Chanel est un _
- (). fromage . (ii) par’fum
(i) vin e o
'(h) Aneesh et Manuel mangent plus volontiers ‘E
. pendant le diner. ‘ :
) ala maison S (i) ala cafétéria
© (i) aurestaurant - | | !g :
(f  Catherine a les yeux ) 1
| (i) noirs « 3% D) bleus
@) bruns AR &
) <<La Marseillaise>> est
()  ledrapeau francais (i) la féte nationale
‘ (iii] I'hymne national
p3. Repondez: , (3x1-3)
| (a)  Nommez deux fromages francais.

(¢) Nommez deux fleuves frangais.

D4. Reliez : (4x14=2)
(a) LaSuisse (i Lamontagne
(b) Aneesh (ii)‘ le pays voisin
(c) LesAlpes (iii) les batiments
(d) L’architécte (iv) la glace

(6)



